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| MATH 101: FaLL 2020
You are allowed one page of notes and a calculator. No phones. More than 25pts to earn. your

answers for full credit and show work. Thanks!

. TH+2y=2>5
Problem 1: (15pts) SO}_‘je(x — 5y = —9)

29 - (-59) =S -(-9)
B e S
% =13

Thanm,

X = 6§-29 = 5-2(@)=S-49=1 = [X=]

We hind 5o/ of 1(1,3) ]

. 4z + Sy = 26 @
Problem 2: (15pts) Solve 6z +7y =38 @

Meltiny © by 3, 3(9x+59) =3(26) ==
Moltply @ by d, 3 (8x +29) = A(3F) = 2¢
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-\Ix + 14y =76
9 =3
Thaw YX+SY = Yx+ (0 = 26 = Yx = 16




Problem 3: (15pts) Solve

T+2y=3 @(2?(-(—‘7’9 =6
2 +dy=4" —\2X tYY =9
C =12
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Problem 4: (15pts) Find two linear equations whose graphs are the lines given below. Also, verify
the intersection point of th
@ N “

e li:njas solves both equations.
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IX-9 = —-i) 2(-3) - (-3

—2x -9 = &

=Y+ = - Q
~2(3) ~(-3) =9+a F 6

Problem 5: (10pts) Let P(z) = 3z° + 2z + 1. Calculate P(1) and P(—1).

Pl)y =30)" +a6)+) = 3+3+] =[6]
Pl) = 3ty «al)+] = =3-3+]
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Problem 6: (10pts) A fence is made such that its width is 20 feet longer than its length. In addition,
the fence is constructed with 65 ft of fence. Find the length and width.

1+ 20
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Yl +40 =¢S
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‘ ( f+fero+e 6 20 = ¢
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w= feto = 26.as

Problem 7: (10pts) Complete the square for f(z) = z* + 4z + 6 and factor f(z) completely.
foo = x U s
= (x+3) - 4+6
[fx+a)z+aj (%i; i a5 v a0 we Can
o go /o Gmplux poumbeq

cowld alse ue b*—Yac = (6-Y(¢) =-y< ¢
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Problem 8: (10pts) Solve z2 + 6z — 20 = 0

(x+3)°-9-20 = 0 o bk rgmens
(x+3)" -39 = o
(x+3 —Jzq)(x+32+J2q7) = ©
[X= -3+ J2q |




Problem 9: (60pts) Factor each polynomial below completely over R,

(a.) z* — 16z

"

X (X%~ 16)
x (x*-4*)
(X (X =9X+4) ]

wo N

(b.) 2*+6c+9 = (X+3 )(X+32) = j(X*'?)z}

(c.) 222+ 15047 = [(—ZX + | )(X+?)j

(d.) «®—1 :(’(>‘<~l)(><z+ x+f)7

A~ & =(a-p )(A**+AG16%) wiHh A=X @ =/
(e) o' ~16 = (x¥)'~ ¢*
(x*-9)(x°+9)
(x*-3%) (x*9)
=(x-a)(x+a3) (x™#9)]
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) et-a" -6 = (X =3 )(x"+ 2
- (XZ ___N—}»)z)(xz_‘_&)
=Lé<—— Jz‘)(mﬁ‘)(x#a)]




